ég 4 - beﬁ‘nﬂ‘ﬂ‘on J/ f’le Derivedive

_Tz.e ;ﬁshn%mau;ﬁin_fffwje rf fF(xJ af XB _

Lim  Larl) = £(a) (aR)

h->o .

15 called e denm{ge,_afi ft}:) ai X=a , _and s denoted

R _-7+‘,

S % £ (a) L

T s alse Hhe shpe of the ‘hugenj Ime. ot X=a. This is_
7_41(4; e Haa%_i—mah_ f(g) at x-a cand ot ne _—Hn.er\

- J_naa_r;%_fm‘mts. B S .

o _ Secamt line Secont lme _ temqent e
bl o e . i (slope = §'ad)

— J/L/@ o + (fLMk O/j Hhe dermq{.‘ve.“ ws Qa .__ﬁmcftonirLi'H owh
o ,J“Eajz&, -
I

00 = L Fo) -I(x)J
L ko b —ia

(TL& s ‘:@s cql@ what we hwe alnve. e)cg:p-} now x s
o Varable ms-iea_dpﬁ Some__0eR)

lﬂo{cTLc dertvative F0x) is Smei-'-i-yhéf?._..ém.afaé dé; ( )C(x))



T”E&JQBELMWW ‘.,oﬁ,k_u,_f(e_c) usm Hee de {mittong

(Lo.+er Wwe Wil |earn rfmﬂ" methods 1 campu+¢ -f: (90 bu% -F-
qou are asked 1o (1se He definitron, Ho(.L Mus c(o e

'Hus wq,qf( )
(i) ;F/oc): P o ______________;
Solution: §0c) = Lom £(xrh) -£6x) )
h=o »
. = fow _gé W) — € - —
R ) | b g
< fm _h = [4] (#00 is conssant!)

‘ In—ﬁo k

NS o) =x

s Jrhi_s__ws_q,_\;b_{:;mjf_ILiLuldh}

‘( be O-F Cowrse Quuy Tangeat (‘ae ﬂi{k -
_| = = .lndjsfo 7_;4;_/
(2) f6) = R
_ Selwhiorr f'0= Low flern) ~ fl) -
B hers L
S E [r‘m (DC'f' (ﬂ)z ‘lz'
.. o W0 k. U R
| = Awm (P42xh+h?) -
b--”
. . N " S
I Am 7—)<L + W% o
s 3 - mln.-"o L. e
R ,,E,;,,-/,C!‘.Y‘l X4 L = 7 2)(_ o o
R N k00 R




L@Lf(?() = il : N

KA £

Lt fm—h) - f(x)

1

h=o L.
= A (ael)? - x* e et
- h—o h -
E ,(m_ﬁgdf__:bgm Bieh®r 7)) — e
h=0o L o
il = Ao 3xFht Bxhral’ o
h—20 I -
x4+ 3x bl +)* 2 |3x"
LL—=>eo

Whot do you Humie f1x) o5 for Flx)= X77 Maybe 457

Guve % o i*ml7

(H) Fix)- Jx

Solutton: f ‘= Lim  Fxtry = Fix) Y B
- L—)o L\. - F
= jm Xth — J;' __,__,,_m *\r;
[ e L. Vil + VX
= I (x+h) - x
. hoo W ({xah+ix)

= Lm s PR B
Ve wWemo el i
o B b i D
ke e 28k

B¢ Whet s He A.en.u_am______ai___ﬂx)__;_.Jx___:_;:_4_}[_Zﬂ.%?? il
Slui-on Leds %j Using e de{mm' .



§0) = Lm f¢ 0+l) = f(o)

k=0 b

= tm J0+L) -0

h=>0

[~

| h=>0 h

= Iwm W I DNA (e 3.1

Ukh— Wat?! T4 coesn't exnt® | S

. This 3 less Surprisig  whea We look e

ot He ﬂmFL_Q{- ﬂx):lx!_

oty becawse Hhere are

sem¢_.7za&iu&_.$MJeh+ lines !

(| Ex: Fiad Hhe mz\u,am aﬁq%&iaﬂﬂu%- line s

(x] ______ at X-=

Soluh‘m 2 Regalt Bt o lna s Czuw(—u‘m o

- Y=mxt+b. -

C

TER ='_'_ I [t 3G +3] ~ [2*r3c)v2]

" | h=ro L

t \- e a\ﬂi-ene'p}- =
“Slpe, 9iven by £y,

[\,,,, Q,{i 1,,% )+aaf+3u) gz = L

% fm ZRHLE o e 24l = 7

k=0 b hs

A?@M— on Hee [e y= Zx+ b s (2, f2)) -_‘-(2_,'2),

So  [2=7()+b = b= |2-]4=~2,

Tanﬂmf' lne: | Y= 7X,:-,37




